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QUESTION 1

To which of the following resources can a lock NOT be applied?
A. Table spaces

B. Buffer pools

C. Tables

D. Rows

Correct Answer: B

QUESTION 2
A table named DEPARTMENT has the following columns:

DEPT_ID DEPT_NAME MANAGER AVG_SALARY Which of the following is the best way to prevent most users from
viewing AVG_SALARY data?

A. Encrypt the table\\'s data

B. Create a view that does not contain the AVG_SALARY column

C. Revoke SELECT access for the AVG_SALARY column from users who should not see AVG_SALARY data

D. Store AVG_SALARY data in a separate table and grant SELECT privilege for that table to the appropriate users

Correct Answer: B

QUESTION 3

In which of the following situations would DB2 retain resources associated with a transaction at COMMIT time?
A. A cursor is defined as WITH HOLD.

B. Another user executes the same transaction.

C. The application program amends during COMMIT.

D. The transaction terminates abnormally during COMMIT.

Correct Answer: A
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QUESTION 4

Given the following two tables: TAB1 C1 C2
A11B12C13TAB2 CXCY

A21C22D23

The following results are desired:

Cica2cxcy

A11A21C13C22----D23

Which of the following queries will yield the desired results?
A. SELECT * FROM tab1 INNER JOIN tab2 ON c1=cx

B. SELECT * FROM tabl LEFT OUTER JOIN tab2 ON c1=cx
C. SELECT * FROM tab1 FULL OUTER JOIN tab2 ON c1=cx
D. SELECT * FROM tabl RIGHT OUTER JOIN tab2 ON c1=cx

Correct Answer: D

QUESTION 5

Which of the following is a valid wildcard character in a LIKE clause of a SELECT statement?
A. %

B. *

C.?

D.\

Correct Answer: A
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